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Problem 1

Using the Slope Deflection method, determine the reactions at the supports for the frame shown in Fig. 1
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Problem 2

Using the Moment Distribution method, determine the bending moment at the fixed supports and the
reaction at the roller for the frame shown in Fig. 2. You must use only two iterations for moment
distribution at each joint and the sequential method (Method-1), and stiffness modifications wherever

possible.
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Problem 3

Using the Stiffness matrix method, determine the displacements and reactions at the supports for the
truss shown in Fig. 3
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